29'-8" _ NOTES:
10" 23'-0" 5 —0” 10" 1. BRIDGE DECK REINFORCING STEEL LOCATIONS MAY BE ADJUSTED TO CLEAR
» A . DECK DRAIN PIPES.
11-6 . 11-6 FACE OF RAIL —= 2. ALL STRUCTURAL STEEL FOR THE WATERLINE SUPPORTS SHALL CONFORM TO
ASTM A709 GRADE 50 AND SHALL BE HOT DIP GALVANIZED AFTER
= FABRICATION.
B\\ FACE OF SIDEWALK CURB—=
FACE OF RAIL CONSTR. B ——= | 3. THE WATER LINE SUPPORT LOCATIONS ALONG THE EDGE OF BRIDGE,
o = INCLUDING THE EAST WINGWALL, SHALL BE DETERMINED BY THE CONTRACTOR
ADDITIONAL SLOS0S BARS | 4 SPA. @ 1'—2"= 4'—8" 11" o IN THE FIELD. SPACING OF WATER LINE SUPPORTS SHALL NOT EXCEED
WATERLINE SUPPORT BTWN SLO501 _BIRS ONER PIERS , ~SL0501 TYP. BTWN. BEAMS | TP, ] 6'—0". EACH SECTION OF PIPE SHALL BE SUPPORTED WITHIN TWO FEET (2’)
SEE DETAIL THIS SHEET : o R 5 SPA. @ 12" = 5'—0" 4 1/2" BEHIND THE BELL ON THE BELL SIDE.
Zal PGL  <CO5 BARS = SWo301 SW0302 @ 12" MAX. SPA 4. WATER LINE PIPE ROLLER SUPPORTS AND CONNECTION MATERIAL SHALL BE
- —8" MIN ° \] SLOPE 1/8"/FT. / SLAGED PERPENDICULAR RATED FOR EXTERIOR USE. CONTRACTOR SHALL SUI?\IMIT SHOP DRA\g\I/{’\IGASNDFOR
2 3/4” . 1/4" JFT. . 1/4” ' . THE PIPE, PIPE ROLLER SUPPORTS, AND APPURTENANCES FOR REVI
r / SLOPE: 1/4"/FT o SLOPE: 1/4”/FT. [_' e ———— TO B (FIELD CUT TO FIT) ' APPROVAL.
et o o . —% s v e ove oV, LV .
: . %ﬁ% P — 5. DECK DRAIN PIPES SHALL BE 4” DIAMETER GALVANIZED STEEL PIPE (ASTM
gy | B — I =1 -1 —— —p——) ) A53). FOR DECK DRAIN LOCATIONS, SEE FRAMING PLAN, SHEET B10. COST
! —1.1/27 ~ " OF DECK DRAINS, INCLUDING SUPPORTS, SHALL BE INCLUDED IN THE PRICE
| T \ 3" P4 OR 5* Typ ’ ’ < g DRIP DETAIL BID FOR CLASS A4 CONCRETE.
41 . . 3 . ~
=t =T : 1 EP5 EPOXY I 0 6. THE BRIDGE DECK CONCRETE SCREED SHALL BE ORIENTED PARALLEL TO THE
., —— ~ SUBSTRUCTURE UNITS.
12”8 WATERLINE - : : , DECK DRAIN DRIP DETAIL, TYP.
DECK DRAIN @D | @ | @) @9 B5 : 7. THE FINISHED BRIDGE DECK SHALL BE GROOVED IN ACCORDANCE WITH THE
, , | SLO501 TOP & BOT. SPECIFICATIONS.
2— TYP. EA. EDGE : 8. FOR ADDITIONAL INFORMATION REGARDING THE WATERLINE, SEE SHEET C1.
) 6" TYP. ., 5
71/2"| |, 9 SPA. @ 7" = 5-3" 7 1/2" 4~ TYP. 9. FOR RAILING DETAILS. SEE SHEETS B13 AND B14.
TYP. SL0502 TYP. BTWN. BEAMS TYP. :
1107 4 SPA ® 6—6" = 26'—0" . | =107 10. FOR REINFORCING STEEL SCHEDULES, SEE SHEET B12.
PART SECTION OVER PIER PART SECTION AT MIDSPAN
KEY: .
®SLO5 BARS
0SLO503 BARS OVER PIERS ONLY
PARAPET REINFORCING NOT SHOWN TRANSVERSE SECT'ON
SCALE: 1/2"=1'-0" ‘
TOP OF SLAB ELEVATIONS
END OF SLAB PIER ¢ OF - END OF SLAB
'ABUTMENT A 0.2 0.4 0.6 0.8 BRG. © 0.2 0.4 0.6 0.8 ABUTMENT B
FACE OF LEFT RAIL 928.06 928.10 928.14 928.18 928.22 928.26 | 928.30 928.34 928.37 928.39 928.35
CONSTR. BL 928.20 928.24 928.28 928.32 928.36 928.40 |. 928.43 928.47 928.51 928.55 928.60
| FACE OF SIDEWALK CURB 927.86 927.90 927.94 927.98 928.02 928.05 | ' 928.09 928.13 928.17 928.21 928.25
. FACE OF CURB FACE OF RIGHT RAIL 927.72 927.76 927.80 927.84 927.88 927.90 | 927.94 927.98 928.02 928.06 928.11
N OR RAIL ,
. 38'-6 1/4” L 38'—11"
SPAN a ' SPAN b
= B U | $ | 6 1/2" 5" 109 SC0503 BARS @ 5" | 1'-0 3/4”
3’ ' ol TOP AND BOTT. = 45'-0” )
WT6X17.5 WITH 2 VERTICAL ~ - ET0402 Tl . . =)
SLOTTED HOLES IN WEB AND . o \_ ) ) TOP AND BOTF‘—\\ - -
4 VERTICAL SLOTTED HOLES U2 3/4"% X 6" STUD ! |
IN' FLANGE ca=§ . WELDED TO PIPE | e | ]] — 3 — S 5 ]
4 TOTAL —><|-—WP. | el | / _~  DECK DRAN, TYP. / /
y . < 4" \ / ( FACE' OF RAIL—] SEE DETAIL 5
7/8"8 BOLTS > 7/8"¢ BOLTS WITH ’ ! : T ' ' | N—ET0401 !
// Py N 3” * ’ ! . -
3 TOML T ; L AL SECTION m - CONSTRUCTION B NP / oot LINE THRU CENTERS TOP AND BOTT. =
d ‘ ’ S OF BEARING
L4 x 4 x 1/4 STRENGTH (4 EACH SCALE: 1 1 /2"=1’-d"B\8BB ' BERKLEY ROAD _\ Lo _ END OF SLAB
) SUPPORT) ) ) Sei
7/8"% BOLT WITH 5 2% S 21 SLO503 BARS
5/16" FILL PLATE - | MOZRS OVER PIERS :
/ . * ' “&3 ‘>§§‘>\\§5\\ a
= X . » ) . \ ©
A4 % ET0401 END OF SLAB & 6@/\ - | \I50"_30° 00" TYP. N
! N TOP AND BOTT. N 2 15'—6" 15'—6" L FACE OF \ —
/W ~ 3 Q™ | | | SIDEWALK ~\__ (70402
ROLLER AND ROD ™~ 5 2 CURB TOP AND BOTT.
. » - Pl o)
L e : 47 DA DRAN PP N e || — ez :
MANUFACTURER o’ o | | - / TVP. ‘ ' FACE OF RAIL—\ // ]
_ - L B 9]
—— \ e ¢ nadi
12"¢ WATERLINE 5" ©
1'~10" 1D )
B ) 1'—1" 109 SC0502 BARS @ 5" 74 SC0501 BARS @ 5” 6 1/4”
FACE OF CURB , | TOP AND BOTT. = 45'—Q TOP AND BOTT. = 30'—5 | S ’
OR RAIL 77°'-5 1/4" ,. o 2 9 6 2 1
WATERLINE SUPPORT DETAIL | SLOPE CONCRETE I | | 1-1/2=0 ,..=_=__” S— , |
. 3/4"=1'—0" THIS AREA DOWN 1/4” f , 12" 9" 6" 3" 0 1 2
SCALE: 3/4"=1'-0 f THIS SREA_DOWN, SLAB PLAN == __———
- ! SCALE: 1/8"=1'-0" 8 4 0 8’ 16’
Bs\Ea ( | , ‘; 1/8"=1"—0" |l —
, 12” 6” O 1’ 2’ 3’ 4’ 5'
DECK DRAIN DETAIL i 1= O I e e ——
SCALE: T7=17=0 | GRAPHIC SCALES

PROJECT NO: 60098105
PROJECT PHASE: 0003

BERKLEY ROAD BRIDGE RECONSTRUCTION | ISSUE DATE: ___08 APRIL 2011

Daniel R Dean (STRUCTURE NO. 8015) A=COM oraneY: owe TRANSVERSE SECTION BS

CHECKED BY: DRD

BRIDGE

2011.04.13
15:07:19 -04'00' | | o h— AND SLAB PLAN

CITY OF ROANOKE £515 FRANKLIN ROAD

ROANOKE, VIRGINIA, 24016
ROANOKE, VIRGINIA , PHONE (540) 857-3100 DESCRIPTION

RF: Hansi_d_22x34_horizontal_cpig_nxbrdr!l IMG: NONE

M:\PROJECTS\TRANS\ 60098105\ 0003\ CADD\DWG\BB.DWG 60098105_0003 04/13/2011 14:53:06 DEAN, ROB



